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(bit) (Byte)  
 

1 Byte( ) = 8 bits ( )    
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3 (2, 8, 10, 16 ) 
N N  

 
 2  0, 1 

 8  0, 1, 2, 3, 4, 5, 6, 7 
 10  0, 1, 2, 3, 4, 5, 6, 7, 8, 9 

 16  0, 1, 2, 3, 4, 5, 6, 7, 8, 9, A, B, C, D, E, F 
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(1905)10=(1�10
3+9�102+0�101+5�100)10 
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(1101)2 =(1�10
11+1�1010+0�101+1�100)2 

 =(1�23+1�22+0�21+1�20)10   �  

 =(8+4+0+1)10 
 =(13)10 
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1, 2, 4, 8, 16, 32, 64, 128, 256, 512, 1024, 2048, 4096 
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(19)10=(10011)2 (2003)10=(11111010011)2  
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(8, 16 10 ) 2  
 
(376)8 =(3�10

2+7�101+6�100)8 (376)16 =(3�10
2+7�101+6�100)16 

  =(3�82+7�81+6�80)10  =(3�162+7�161+6�160)10 
  =(3�64+7�8+6�1)10  =(3�256+7�16+6�1)10 
  =(254)10  =(886)10 
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(2 8, 16 ) 8 3
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16 (101100)2 = (00101100)2  
(0.111111)2 = (0.11111100)2  

 
(8, 16 2 ) 16 2 16

(1, 2, 4, 8) 8
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(10 8, 16) 2  
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(0.1325)10=(1�10

-1+3�10-2+2�10-3+5�10-4)10 
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(0.10101)2 =(1�10

-1+0�10-10+1�10-11+0�10-100+1�10-101)2 

 =(1�2-1+0�2-2+1�2-3+0�2-4+1�2-5)10    

 =(0.5+0.125+0.03125)10� � � � � � � � �  

 =(0.65625)10� � � � � � � � � � � � � � �  
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(0.65625)10=(0.10101)2 
(0.1)10=(0.00011001100110 )2 

 
2 16

4 16

 
 

(0.1010111010)2 
= (0.1010111010)2 
= (0.1010 1110 1000)2 
= (0.ae8)16 
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(0.bf5)16 

= (0.1011 1111 0101)2 
= (0.101111110101)2 
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[ ] (-18)10 8 (11101110)2
( )  

 
(-18)10  00010010  18 2  
 11101101   

 11101110  +1  
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[ ]� (21-14)10 (14-21)10 (8 )  

 
 00010101  21 00001110  14 
  + 11110010  -14 + 11101011  -21 

 100000111  7(8 ) 11111001 
  
 00000110   

 00000111  +1  
 4+2+1=7  10  
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-128 127  
 

 (01111111)2=(2
7-1)10=(127)10 

 (10000000)2=(2
7)10=(128)10 
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